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Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.

(a) the problems and dilemmas
(b) of the middle class

(¢) Mohan Rakesh’s works

(d) are centred on

(D) (b) () (d) (a)

(2 () (d) (a) (b)

(3)  (d) @) ®) (©

(4)  (a) (¢) (b) (d)

Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2

Change the following sentefice from Active Voice to Passive Voice.
Will he return the book to me ?
(1)  Will the book be returned to me ?

(2)  Will the book be returned to me by him ?
(3) Will I be returned the book by him ?
(4)  Will he be returning the book to me ?

Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 3, Option ID : -7

Question ID:- 3




Fill in the blank with the correct preposition.

The star was quite annoyed the photographers for clicking his photographs repeatedly.
(1) to

with

)
) from
) of

Options:-

.1, Option ID :- 9,

. 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 2, Option ID : -10

Question ID:- 4

Identify the correct tense form of the underlined part in the given sentence.
By the middle of the century, India will have become a superpower.

(1) Simple Future

2)  Future Perfect

(2)
(3) Present Perfect
(4)

Future Perfect continuous

Options:-

.1, Option ID :- 13,
« 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 2, Option ID : -14

Question ID:- 5

Change the following sentence from Direct Speech to Indirect Speech.
“Will you help me solve the problem ?’ the scientist said to his colleague.
(1) The scientist asked his colleague to help him solve the problem.
(2)

(3) If he would help him solve the problem the scientist asked his colleague.
(4)

The scientist asked his colleague if he will help him in solving the problem.

The scientist asked his colleague if he would help him solve the problem.

Options:-

.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

- 4, Option ID :- 20,
Answer Given:- 4, Option ID : -20

Question ID:- 6




Identify the part which contains an error.
The criminals / killed him / on the highway / by a dagger.

(1) (2) (3) (4)

Options:-

.1, Option ID :- 21,
« 2, Option ID :- 22,
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

Choose the word nearest in mealﬁng to the given word.

OSCILLATE
(1) swing
(2) hang
(3) freeze
(4) tremble
Options:-

.1, Option ID :- 25,
. 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

Choose the word opposite in meaningto the given word.

DECEASED
(1) healthy
(2) living
(3) excited
(4) comatose
Options:-

.1, Option ID :- 29,
. 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9




Identify the Part of Speech of the underlined word.
He exercises on all days of the week.

(1) Conjunction

(2) Adjective

(3) Pronoun

(4) Adverb
Options:-

.1, Option ID :- 33,
. 2, Option ID :- 34,
. 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Identify the clause in the underlined portion of the given sentence.

Let us be silent while she is sleeping .

(1) Principal Clause

(2) Noun Clause

(3) Adjective Clause

(4) Adverb Clause
Options:-

.1, Option ID :- 37,
. 2, Option ID :- 38,
. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Subject : GH_Q11-Q20_TGTSANSKRIT

Question ID:- 11

fr=fafes T # TeE SR URd 99 1 92 SR e |

FHAETE 3T T[E o1 ] A I 4 | ek Fe1 o1 foh 97 &1 §EE 9l HiSAE § W 2l 8 |
i 7% o1 SYaR ot s1ferk STt e w1fen | % 9 RN & AU § 1 T g uE 1 S99 § FER
T2t & Fehe-TeeR Ueel Feprarent W < & TRt St gt & 7o et = &, 39t weer forsy & =9 o9 m
o HEIE ITF AU H1 X FL a7 |

e BT AT o1 o e

(1) et =t oft sFm T e @
(2) “hfeTE & foerw &

(3) AT 9 foema @

(4) T foer @

Options:-

.1, Option ID :- 41,




. 2, Option ID :- 42,
. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12

Teafearfag Teie i UgHt IR AUME 999 1 Heleh I gy |

FHEANETE A T[E o AN FHA T A | ek Fel o1 foh 974 1 HE TSI HioAE § W Bl ¢ |
i 7% 1 39aR § ot s1ferer S7et T T1fen | % 9 FRR & |96 © | T R uE 1 9 | FRR
gt & dhehg-Teer Yeet FehTerent Wes a1 € foR st firgt & eroen wre &eren €, St wehR fere & =i s
o HEE 3TF SAHUT H1 G FL a7 |

e &1 o= o fF .

(1) ¥R &R 5 a9F 2

2) SYREH ST

3)  T[% 9 VI % HF H S g

(
(
(4) TE TIR Y oft Afirer STewo 2 2
Options:-

.1, Option ID :- 45,

« 2, Option ID :- 46,

. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13

Trefafaa i #i TgHt AR ARG 98 %1 92 SR Sl |

FHEANRTH 7Y 6 1 ISHHEFLA 9 | 3T Fa1 o1 o T 1 96 a1 hicArE H We Bar & |
I 7% 1 ST off 1% STRT <1 Tt | % 0 76X & T9H § | 759 TR = &l 391 § F%R
Tt & Fehs-TeeR Tee FeporeRe Wies < & Rt st fogdt & v =gt e €, 59 weer forss & =g s
T TS ST ST 1 gL F ST 7 |

AR o TR FFER F1 HIA ¢ ?

(1) el fHgl 9§ =2 aAm €

2) THEl % Fogg W&

3)  whehg-TeeR faeeRt el S ©

1) Tt ¥ Fere-er et 39 fagt ¥ wer 99w §

(
(
(

Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 4, Option ID : -52




Question ID:- 14

frefafaa i # TgHt AW SUIia v 1 92 IR S |
NG $T9 T% 1 IS T FL 9 | ITR Hal o1 ok T &l FTE 91 hick 9 9 e ¢ |

Options:-
.1, Option ID :- 53,

. 2, Option ID :- 54,
. 3, Option ID :- 55,

- 4, Option ID :- 56,
Answer Given:- 4, Option ID : -56

Question ID:- 15

Freferfaa T o Yeet IHW HIfE Y9 &1 Fdih I Ay |

FHEARET 3T TE H TS T H & | Feh] w1 o1 o6 7= Tl T[T T Hios 9 ITd ol 8|
Fafery T8 1 $vaR & oft sifees St AR INTE 61 PR & THA €1 TSE TR 5 o o i FER
gt % Sohs-Teer Tel FrrTarat e Aa © T St gt & oTaeT wre A 8, 36 veer forsa % afy e
H TG I ST HI G HT SAre |

‘o W W @ d geey R fretad § 9w el €
(1) & & SE

(2) EETEEEt g

(3) =Ed e 99 FHA

(4) R YT R T
Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
. 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 16




(1) &= + 7
(2) o€+ fa
(3) e+ TIfd
(4) HuH + TG
Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
. 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 3, Option ID : -63

Question ID:- 17

Fr=fafas & ToEres v 72
(1) 7
(2) o
(3) €@
(4) A
Options:-

.1, Option ID :- 65,
. 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 18

TET % STER T * 9 §
(1) =R

(2) W=

(3) M

(4) @&
Options:-

.1, Option ID :- 69,
. 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 2, Option ID : -70

Question ID:- 19




(1) =
(2) 3
(3) <9
(4) =T

Options:-

.1, Option ID :- 73,
« 2, Option ID :- 74,
. 3, Option ID :- 75,

« 4, Option ID :- 76,
Answer Given:- 4, Option ID : -76

Question ID:- 20

(1) =S
(2) Heam
(3) feorm
(4 T
Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GA_Q21-Q30_TGTSANSKRIT

Question ID:- 21

Which Title/ Book has been selected for the Sahitya Akademi Award 2022 in Urdu language ?
(1) Aadhi Ghazlen

(2) Ek Khanjar Paani Mein
(3) Khwab Saraab
(4) Mutthi Bhar Kahaniyan

35 991§ Hifeed STRGHT GURR, 2022 % fau ford efier/ g% &1 571 71 8 ?
(1) 3l TTetel

(2) T @SR A H
(3) EE WH
(4) TS W keIl

Options:-




.1, Option ID :- 81,
. 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 1, Option ID : -81

Question ID:- 22

Which of the following historical monuments, in India was not built by the British ?
(1) Golghar, Bihar

(2) Writers’ Building, West Bengal

(3) Gateway of India, Maharashtra

(4) Gol Gumbaz, Karnataka

ard ¥ ffafaa 4 9 feg tfaefos e & famm sl g =& e g ?
(1) TieEr - faer

(2) zeH fafedn - afvey dma
(3) Tied 3k feA - wewr
(4) Il TS - ShATeh

Options:-

.1, Option ID :- 85,
« 2, Option ID :- 86,
. 3, Option ID :- 87,

« 4, Option ID :- 88,
Answer Given:- 4, Option ID : -88

Question ID:- 23

Which of the following legislative houses in India are not subject to dissolution as per the Indian
Constitution ?

(a) Lok Sabha

(b) Rajya Sabha

(c) Vidhan Sabha

(d) Vidhan Parishad

Choose the correct answer from the codes below :

(1) only (b)

(2) (a) and (b)

(3) only (d)

(4) only (b) and (d)




I % HiauH & FER wid ¥ frefafea § 3 fem faurh gwed o fameT =& g €2

(a) I |l

(b) T HHI

(c) Taum qw

(d) Taum qite

=i fau 770 e § W& IW FH T FHIGC
(1) e (b)

(2) e (a) SR (D)

(3) I (d)

(4) %9 (b) 3R (d)
Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 4, Option ID : -92

Question ID:- 24

Which of the following is a Government of India initidtive in Higher Education ?
(1) Unnat Bharat Abhiyan

(2) India International Skill Centre Network

(3) Ayushman Bharat Digital Missiofi

(4) PM-DAKSH

Freafafed 9 4 3= foen HE&EH 90 WHER F Twd FH 82
(1) 3=1d ¥Rd AfqEm

(2) Sfea servme fera et Aeas
(3) HH e fefsea fagm
(4) diug g

Options:-

.1, Option ID :- 93,
. 2, Option ID :- 94,
. 3, Option ID :- 95,

. 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25




Which of the following options follows the correct chronology in which statehood was granted to
the following regions in India, starting from the region that was granted statehood first to the
last ?

(1) Nagaland —  Mizoram —  Meghalaya
(2) Meghalaya —  Mizoram —  Tripura

(3) Nagaland —  Arunanchal Pradesh —  Tripura

(4) Nagaland —  Tripura —  Mizoram

ad § Freafafad &5 o1 T 1 g5 81 F 98 1A%y S 91 fasey euiar § f9ud vga 98 93 T &
ToI8 word Teet T &1 <1 T 7 o 31 = | o9 4 99 7w <= e | fea e

(1) #reie —  fasirm —  HEeE

(2) ®uEE - fAEA — g

(3) MR o  IEUEE YWl —  fagu

(4 -TmwRiE - B —  foasim
Options:-

.1, Option ID :- 97,
« 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 4, Option ID : -100

Question ID:- 26

The mean annual average temperatutre is'the highest in which of the following vegetation zones ?
(1) Tropical

(2) Sub-tropical

(3) Temperate

(4) Alpine

Tr=fafed & 9 g aeafa & § e aififes sirad aroe gaifees 26 @ ?

(1) IoUrehfesitt

(2) SUrEHfEY

(3)  ¥iiqrem

(4) UWebEd
Options:-

.1, Option ID :- 101,
. 2, Option ID :- 102,
. 3, Option ID :- 103,

« 4, Option ID :- 104,
Answer Given:- 1, Option ID : -101

Question ID:- 27




Who among the following is the Tenzing Norgay National Adventure Award winner of 2021 for
Land Adventure ?

(1) Naina Dhakad

(2) Nir Bahadur Gurung
(3) Jerlin Anika ]
(4)

4 Sarita

e Tgd=R & Tau 2021 & 990 01 99 Ted=R ofars fa=tatad 3 9 fHe sitar ?
(1) = s

(2) AR ERIGL I
(3) Sifei @Afemt S
(4) @it
Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
. 3, Option ID :- 107,

« 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28

Which of the following is an Italian bee variety used for commercial honey production ?
(1) Apis cerana indica

(2) A. mellifera
(3) A. dorsata
(4) A. florae

sl i AYHeREl &1 Fefafad 5 | form gefd s wemn anfofsae see 3creq & foag foran s 2

(1) ufug faumn sfea
(2) T Heh

(3) T EHHEI

(4) T AN
Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 2, Option ID : -110

Question ID:- 29




Which of the following examples most, appropriately represents the “diligence” characteristic of
the computer ?

(1) Calculation and generation of the salary slips of thousands of employees of an organization
(2) Result of division of any two numbers up to 10 decimal places

(3) Performing long and complex calculations with the same speed and accuracy from the start
till the end

(4) At one moment one can use the computer to prepare a letter document and in the next
moment one may play music or print a document

Treferfad 5 | 9 9 3 HFgR ®i aREfEa’ (Diligence) FaEt fawiom =1 Haifus #a&t ol 9

Il & 2

(1) Toredt e & &SI FHAE] o 36 &1 0T AT $IR S Tl S ST

(2) 10 SHETEIF d% i Thal o G &1 IRTH

(3) HIRY | 3{d T ol R Sfea el w1 guE fq i 9feree ¥ w

(4) TH &0 § FHEOGE FH TN T g9 § H SR S &1 IHG e, SS stan e SiRme e
AT

Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 3, Option ID : -115

Question ID:- 30

Which among the following was asbilateral exercise conducted by the Indian Navy in 2022 ?
(1) Exercise KAKADU 2022

(2) Bonosagar 2022

(3) Malabar 2022

(4) Milan 2022

o9 2022 § wRdE T8 g frefafad § @ = @ fgueia s fa o an?
1) THFAEES HEE (KAKADU), 2022

(

(2) SFERR 2022

(3) HIEER 2022

(4) fHEM 2022
Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
. 3, Option ID :- 119,
« 4, Option ID :- 120,




Answer Given:- 3, Option ID : -119

Subject : RA _Q31-Q35_TGTSANSKRIT
Question ID:- 31

The given question is based on following information :

A@B means “A is husband of B’;

A#B means ‘A 1is sister of B’;

A*B means ‘A is mother of B’;

A&B means ‘A is son of B’

Which of the following indicates the relationship ‘T is daughter of V' ?
(1) V*D#TeH

(2) V*D#HsT
(3) T#HeaD*V
(4) T#HeD@V

ez e wom Frfafen sSHewdt w i §

A@B F1 51d § - ‘A, TfI T BHT;

A#B H1 31 § - ‘A, TEA T B Y,

A*B A ¥ - ‘A, AT E BHI;

AeBH A48 - A, AT BH"

frefafead § & @@ w1 faskey ' T, V&l T 8 9 ohl 23l & 2
(1) V*D#TeH

(2) V*D#HaT
(3) T#HseD*V
(4) T#HeD@V

Options:-

.1, Option ID :- 121,
. 2, Option ID :- 122,
. 3, Option ID :- 123,

- 4, Option ID :- 124,
Answer Given:- 1, Option ID : -121

Question ID:- 32




Three statements showing relationships have been given, which are followed by two conclusions,
I and II. Assuming that the given statements are definitely true, find out which of the conclusions
is/are true.

Statements :
1. M=R
2. P>M
3. R=Q
Conclusions :
I R<P
(II) P>Q
(1) Only conclusion (I) is true
(2) Only conclusion (II) is true
(3) Both conclusions (I) and (II) are true
(4) Neither conclusion (I) nor (II) is true

= Hey g ot T e fou e § foes ave & frnd - 1 eiR et ¥ 1 @ wa g fE fae
HYT FEl § | 98 Fd Hite fom wE wvd Freed ffvad w9 @ 98 322

R

1. M=R

2. P>M

3. R=Q
feny

() R<P

1) P>Q
(1) aa fred (1) 98 ©
(2) e TRy (1) w6 @
(3) Twrd (1) SR (1) S 8 €
(4) @i frepel | a5 o 9 A8 @
Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 3, Option ID : -127

Question ID:- 33




Eight friends F, G, H, ], K, L, M and N are sitting around a circular table, facing to the centre but
not necessarily in the same order. ‘H’ sits immediate to the right of ‘G’. Two persons sit between ‘F’
and ‘G’. One person sits between ‘H" and ‘J". /] faces to ‘K. “G" and “K” are not immediate neighbours
of each other. ‘N’ sits second to the left of ‘M’. Three persons sit between ‘L’ and ‘M’. Who sits
immediate right of 'L’ ?

(1) H
(2 ]

3) K
4 M

a8 fA F, G, H, J, K, L, M 3¥R N T Ja1sR 5 & 911 31K 39F % ol 31K §e ik 90 gu ¢ | fohg st
%9 T 7 90 €1 H, ‘G’ % UsheH Sl SR 931 ¥ 1 ‘F $iR‘G’ & g <1 =Afem 50 € 1 H SR ] % o= U
=Afe 531 €1 /7, ‘K % WA 991 §1°GY UK T gE % UheH verdt T 1N, MY & Sl $iR g
WM WAL AW F 919 94 =3 92 € 1 'L’ % THeH TE1 IR & 931§ 2

() H

(2) ]

(3) K

49 M
Options:-

.1, Option ID :- 129,
. 2, Option ID :- 130,
. 3, Option ID :- 131,

- 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34

Three statements are givempfollowed by three conclusions I, IT and III. you have to take these
statements to be true, even if they seem to be at variance from commonly known facts. Decide
which of the given conclusions logically follow(s) from the given statements.

Statements :
1.  Some flowers are trees.
2. All trees are gardens.
3.  All gardens are jungles.
Conclusions :
(I)  Some jungles are flowers
(II) All gardens are frees
(II) Some jungles are trees

(1) Only Conclusion (I) and (II) follows
(2) Only Conclusion (I) and (IIT) follows
(3)  Only Conclusion (II) and (IIT) follows
(4)  All conclusions follows




= 1 ey feu o E e Ore i feed - 1 10 SR 1 few e # ) seRt 2 el B SE A R 9 9
WHEFE: 99 928 9 9= =1 9 210 3 ol st fe e e 58 Aeed fen o weEl | aithe w9 9
Toyaperan &/& 2

<heH :
1. 99 %aIgE
2. Tt e o E
3. | Ol S B
ferd -
) &S ST Al
(1) =i T TeTl

(1) T8 5T IS E|

(1) aa feed - (1) 3R (1) Ferem &
2) hae FreRd - (1) @i (1) Feper &
(3) e Fremd - (1) iR (1) Frerera €
(4) Tt frerd frererd #

Options:-

.1, Option ID :- 133,
. 2, Option ID :- 134,
. 3, Option ID :- 135,

- 4, Option ID :- 136,
Answer Given:- 2, Option ID : -134

Question ID:- 35




Choose the Venn diagram from the options which represent the correct relationship amongst the
given classes :

Females, Sisters, Aunts




fou v foshred] © 9 Y 99 AN@ &1 999 HifaU s G0 T a9t & ot T8 9 &) g9 © ¢
Hfgerrd, s+, g3

@
@
€D
Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
. 3, Option ID :- 139,

- 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_TGTSANSKRIT
Question ID:- 36

Which of the following is not an input device ?
(1) Touchpad

(2) LED Panel
(3) Scanner
(4) Light Pen

Frefafes 8 ¥ 70 v g feagm =i § 2

(1) ==ie

(2) TAS S e
(3) THET

(4) o T




Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142

Question ID:- 37

Which of the following is the smallest memory unit in the given options ?
(1) Peta Byte

(2) Giga Byte
(3) Kilo Byte
(4) Mega Byte

= feu u fommedi § 9 foraet 20rt gfe wad A 8 ?

(1) el aEe

(2) T AR

(3) ferell amge

(4) HT EE
Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
. 3, Option ID :- 147,

- 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147

Question ID:- 38

Which of the following is an,Open Source Operating System ?
(1) MS Windows

(2) Linux
(3) UNIX
(4) MacOS

frafafes § 9 sF-a1 T ivw O sitgefen faem g 2

(1) T TE faE
(2) CETH

(3) Ffe

(4) He s TH
Options:-

.1, Option ID :- 149,




« 2, Option ID :- 150,
. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 1, Option ID : -149

Question ID:- 39

is an Antivirus software.

(1) MS Office

(2) Acrobat Reader

(3) Tally

(4) Mcafee

T U gy WA

(1) UH TE A

(2) W et

(3) el

(4) HEEH
Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
« 3, Option ID :- 155,

« 4, Option ID :- 156,
Answer Given:- 4, Option ID : -156

Question ID:- 40

Hamid Khan is interested in tabulatihg sales data and analyzing it with graphical representations
using an open source software, which of the following will you suggest for the same ?

(1) Cale

(2) Writer
(3) Impress
(4) MS Excel

gifte @ 19+ fashl ST 1 FRofeg i 31 Th A9 Y Saa o YA ik AHE Yol &
qre1 gGehT faver % & Tog § | 9 g5k fau fefafed & 4 fege ggme €7 2

s

(1) hich
(2) T

(3) zH

(4) THTH TR
Options:-

.1, Option ID :- 157,




- 2, Option ID :- 158,
. 3, Option ID :- 159,

- 4, Option ID :- 160,
Answer Given:- 4, Option ID : -160

Subject : UL_Q41-Q50_TGTSANSKRIT
Question ID:- 41
Children imbibe the family values through :
(1) Vicarious learning
2)  Experiential learning

3) Associative learning

4) Insight learning

T T Trerd 4 ufer % gl &1 AEd #% § 2
(1) wfdafuges sifam gm

(2) STEES AT R

(3) We=Hl s g

(4) g2 A gRI
Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 4, Option ID : -164

Question ID:- 42

For which one of the folléwing reasons, the parents of a child should not prefer homeschooling ?
(1) The school learning enyironment is not democratic.

(2) The child learns at a higher rate than his peers.

(3) The child is a good player of football and the school has no football team.

(4) The school culture follows social exclusion.

frefafad ¥ 4 fra o & sk % afieel 1 T W TeE H( SEpian) i wefamd 7@ S
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(2) SIS 379 Hewfedi i erden o fd ¥ Hea €

(3) T Feard A o=l faerd § oir fomnera § weere it @ 4 @ 2

(4) fomnem =t Hewfa s Sfeskon &1 are S €1

Options:-
.1, Option ID :- 165,




« 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 1, Option ID : -165

Question ID:- 43

In the context of the cognitive development of adolescents, which one of the following is not

correct ?

(1) Adolescents can understand abstract principles.

(2)  Adolescents solve problems preferably through trial and error.
(3) Adolescents can tentatively guess.

(4) Adolescents can learn through insight learning.

TRl < wamTers fasry & Hayf |, Fefafad § | siA-a1 98l 78l 8 2

FoReiR 219 fagidl =1 99 Whd €|

Rt srfermma: wame ofr Ffefafy & gmen g # €1
TR sl B9 9 STAH & Hahd ¢ |

TRt srmagfte sAfnTg & " 9 dig g 21

Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 3, Option ID : -171

(1)

(2)
(3)
(4)
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Question ID:- 44

To promote the mental health of thé adolescent students, a teacher should focus on their

self-esteem
coping strategies
self-efficacy
empathy

T TR faenedl & amfas @y &) 9@l e & fau seames =i fwg 1 eam <1 =fen ?
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Options:-

.1, Option ID :- 173,
« 2, Option ID :- 174,
. 3, Option ID :- 175,




. 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Question ID:- 45

Cognitive development among humans is a type of :
(1) Quantitative and discontinuous change
Qualitative and continuous change

(2)
(3) Quantitative and continuous change
(4)

Qualitative and discontinuous change

g &1 GAFTHF (I U YR & 5
(1) HEEES AR e qREd |

(2) T[UTeHE 3R Hed giEed |

(3) HERHSH R Fad gfeEd |

(4) UM IR STHAd e |
Options:-

.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

« 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178

Question ID:- 46

Among humans, which one of the following activities does not require fine motor skills ?
(1) Grasping a toy

(2) Tieing shoe laces

(3) Jumping at a place
(4)

4 Buttoning a shirt

g ¥ frefafaa 9 9 fag e + fau o= nifas e =1 S 72 et 8 2

(1) fordt fgeim = FEF T
(2) S % HId FiEAE

(3) Terdll oA W FEl

(4) HHIS o F2A T

Options:-

.1, Option ID :- 181,
« 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181




Question ID:- 47

The facial expressions of infants are the reliable indicator of their
(I) Cognitive experience
Social experience

(2)
(3) Moral experience
(4)

Emotional experience

Torg=di = ==Y & 21 e fohder favasi Hehas 2
(1) HIATHSH STV &

(2) wIfSTE SIvE &

(3) HAfdh e *

(4) HoTHE Y
Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 4, Option ID : -188

Question ID:- 48

In the context of human development, a researcher intends to explore the coping skills among
students at one time. The researcher cansadgpt™

(1) Cross-sectional design

(2) Longitudinal design

(3) Solomon Four Group DeSigns
(4)

4)  Cross-sequential design

e faem & Hesl §, STHEuEEa Uh 999 W B o faar S &1 Sie S =R ¢ | STE el
o AT &1 STOT WehaT & 2

(1) euEg-ui=sg sty

(2) e sAfgerey

(3) HreAmT SgEge sAfyeey

(4) Ufd-aehfAe 3fyehed

Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question ID:- 49




In the context of heredity and environment, read the following :
(A) Heredity determines what the child can do.

(B) Environment determines what the child can do.

(C) Heredity determines what the child does

(D) Environment determines what the child does.

Which one of the following option is correct ?

1) Only Cis correct

(

(2) A and B are correct
(3) A and D are correct
(4) Only Bis correct

AR IR ardeER & H@ey # frefafed 1 ufeu

(A) sIrEfeERa 7 T et € fof amers = 6 T 21
(B) amareR™ ug fraifa e § fo aiersh @ oY Tk § )
(C) ArdfvrsRar 7 fauifa et € fo amers = %t )

(D) awreRy e fuifta s & fo arers w0 w5
freferfaa o @ wm-w faswe W &2

(1) Fa (C) Tl &
(2) (A) ¥R (B) ¥ &
(3) (A) ¥R (D) ¥ &
(4) Fad (B) W&
Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
. 3, Option ID :- 195,

- 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50

Which one of the following is a correct option ?

(1) Development and maturation occur simultaneously with growth.
(2) Growth and maturation occur simultaneously with development
(3) Growth and development occur simultaneously with maturation
(4)

Development precedes growth but occurs simultaneously with maturation.




Frafafed § 9 wF-w1 fasmey w2 €2

(1) o iR wfigeem, gfg % mg-my 3a €

(2) gfg v aftugss fawm & Q-9 € €

(3) dfg =ir faswra aftasas & -9 2 €1

(4) Tokm gfe 9 9t 2 & g uftsem & -y 2 8

Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
. 3, Option ID :- 199,

- 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Subject : UTL_Q51-Q65_TGTSANSKRIT

Question ID:- 51

Which of the following is not a characteristic of Constructivism ?
(1) Teacher’s role as a facilitator

(2) Learning through experiences

(3) Students not confronted with problematic situations

(4) Child Centred curriculum

Treferfad H | %1 TEAmEmR i U foRIo el 6

(1) 31=A19 1 Tk Glaen —gema i i

(2) WS & WA 9 s

(3) O w1 AR feerfadl ArareTE S Ted ¥
(4) @EA-hiEd TEHEA

Options:-

.1, Option ID :- 201,
- 2, Option ID :- 202,
- 3, Option ID :- 203,

- 4, Option ID :- 204,
Answer Given:- 3, Option ID : -203

Question ID:- 52

Which one of the following is not a role of teacher in play way method ?
(1) Creating learning environment

(2) Arranging relevant teaching-learning materials

(3) Arranging learning activities from simple to complex

(4) Evaluating the students through play way activities




Frefafas § 9 @a (<1 9) fafy # sreames # e =0 78 € 2
(1)  sifermy e gied

(2)  Ha TSR | SrEE

(3) sAferT foRampemdl =l TXel | Sifed i SR Hafeyd HE
(4) @ Torarrardi o Hied 9 SE1 Sl Hedishd HEl

2

Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
. 3, Option ID :- 207,

- 4, Option ID :- 208,
Answer Given:- 2, Option ID : -206

Question ID:- 53

Under which condition the demonstration method is not suitable ?
When ;

(1) Lesson is to be introduced as a problem.

(2) Sufficient materials are available for individual experimentation.
(3) Experiment is time consuming,.
(4) Teacher centred approach is to be practised.

o feafa ¥ vevi=fafy =1 v wen v &€ 2
S

(1) 1S &1 T L1 &6 &Y | TEF [H 1 51 &l |
(2) dafads gEm o fou warg A Sy 2|
(3) AN A H T A

(4)  STSATIFH—hi-5d IUFTH & T4 foman S 21

Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
. 3, Option ID :- 211,

« 4, Option ID :- 212,
Answer Given:- 4, Option ID : -212

Question ID:- 54

Why is intrinsic motivation better than extrinsic motivation for learning ?
(1) It helps seek reward from parents/teachers.

(2) Itis longer lasting.
(3) It does not lay emphasis on high quality learning.
(4) In it creativity is a casuality.
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) 3HH YRl STHYE § |

Options:-

.1, Option ID :- 213,

« 2, Option ID :- 214,

. 3, Option ID :- 215,

« 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

Which of the following statements is not correct ?

(1) Curriculum is a complete set and very broad in nature.

2) Syllabus includes intended outcomes to be managed for students in an educational set up.
3) Syllabus is descriptive in nature.

4)  Curriculum includes the planned and guided learning experiences.

Frfafad § ¥ % w wo 9e T8 2

(1) wreF=a ush "yl §2 ¥ i wepfa § = fasga 2

(2) T H frd Safre g d oS fan sefen i sm e s giom mfve @@ 2
(3) UIEHFHYT FTUHTHF FFHid F BRI

(4) reF=E H Aifsd TR Wi fFAefe stferms srgve wiftet 2d €1

Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
. 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 1, Option ID : -217

Question ID:- 56

Minimum levels of learning programme does not lay much emphasis on :
(I) Learning at the pace of students

(2) Immediate feedback

(3) Mastery learning

(4) Course completion




I AT TR FEwE | R W sifees we @ o s @2
(1) Te=nfeli =1 nfq 3% sAfy

Options:-

.1, Option ID :- 221,
« 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 4, Option ID : -224

Question ID:- 57

Which one of the following statements is correct about development of language abilities of
children ?

(1) Implementing three language formula can pose complex difficulties and hence be avoided.

(2) Children come to school with extremely limited language abilities as language is a complex
rule governed system.

(3) Multilingualismis a typical feature of Indian linguistic diversity and must be used as a resource.

(4) Home language of children can seriously interfere with their formal learning and should be
avoided as medium of instruction.

el AT Geet A # fam % e Fefdteg § § S99 91w g6 g2

(1) - g2 om0 4 sfegdt 3o & g ¥ v safern 398 s=n s =nfew

(2) e STeafHe Eifd s ATGE % WY W o § Fiifeh o U wifed e smenfia yomedt #1
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S SHT =18

Options:-

.1, Option ID :- 225,
« 2, Option ID :- 226,
. 3, Option ID :- 227,

. 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58




Which of the following represents correct learning cycle of ‘Experiential learning” ?

(1)

Keen observation — Concrete experience — Active experimentation — Abstract
Conceptualisation

Concrete experience — Active experimentation — Reflective observation — Abstract
Conceptualisation

Concrete experience — Reflective Observation — Abstract Conceptualisation — Active
experimentation

Experimentation — experience — reflection — abstract conceptualisation

Trefafad § 9 SR svaEs A’ % 98 st = w6l fFEiad w82
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Options:-
.1, Option ID :- 229,

- 2, Option ID :- 230,

. 3, Option ID :- 231,

- 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 59

Which one of the following is not anrobjective of ‘Continuous and comprehensive evaluation” ?

(1)
(2)
(3)

(4)

To use evaluation as a device to, bridge gap between actual and desired performance
To make memorization as basis of all learning

To take appropriatestlecisions about the student, the process of learning and learning
environment

To help develop cognitive, psychomotor and affective aspects of students’ personality

Frefafaa § 9 0 ‘ad 3R =9 Gedih’ 1 Uk 389 el €2

arfas R difsd YevF % @9 Hi gl 9 FT & T STHW & ®9 § goFidd 6 Fa0 HE
TTO) I G AT & SR ST
Tormmeff, stfera gfeman 2R erfermy amTeRor % = § 9&t fol o

faenfefal o =afaqe & HaHHS, THORE (TEEMERT) AR WETF Tgqs w fawfam v d§
TR HE

Options:-

.1, Option ID :- 233,
. 2, Option ID :- 234,
. 3, Option ID :- 235,
- 4, Option ID :- 236,




Answer Given:- 2, Option ID : -234

Question ID:- 60

Which of the following is associated with a unit test ?
(1) Standardized achievement tests
2)  Prognostic tests

(2
(3) Diagnostic tests
(4) Summative assessment

(1) THF 3T Tham

Options:-

.1, Option ID :- 237,
« 2, Option ID :- 238,
. 3, Option ID :- 239,

« 4, Option ID :- 240,
Answer Given:- 3, Option ID : -239

Question ID:- 61

Which one of the following will not Constitute teacher’s responsibility in assessment of learning ?
(1) Ensuring that objectives of thé assessment tasks are clearly understood by students

(2) Providing unlimited time for completion of the tasks

(3) Being sensitive to the challehges faced by some students in completing the tasks

(4) Collecting sufficientevidentes to base their decisions

AT % e H AT i foeer Frefafaa 5 9 @0 7@ 82
(1) =g gfafvea w fF faafe 3 sreem #ef & 2wl # we 9 9 gog fomn &

(2) @Ml qU FA & AT STHHT w9 9]
(3) THHEIH WHA H F3 TE & IO N W T F 9fd FaAsia g
(4) 3k Uil & STHR & foru o | uRi A

Options:-

.1, Option ID :- 241,
« 2, Option ID :- 242,
. 3, Option ID :- 243,

. 4, Option ID :- 244,
Answer Given:- 4, Option ID : -244

Question ID:- 62




Diagnostic and formative assessments are two phases of
(1) Assessment of learning

(2) Assessment as learning

(3) Assessment of quality of TLM

(4)

4 Assessment for learning

e iR TS STeheT % & =W ¥
(1) sferms &1 SAERe

(2) e % w9 H SR

(3) 21 el UH o IUrErd 1 HHEH

(4) AT % o sTeker

2

Options:-

.1, Option ID :- 245,
« 2, Option ID :- 246,
. 3, Option ID :- 247,

« 4, Option ID :- 248,
Answer Given:- 4, Option ID : -248

Question ID:- 63

A teacher first tells the rule and principle and thencites examples to explain the concept, she/he is
adopting :

(1) Explanatory approach

(2) Investigatory approach
(3) Deductive approach
(4) Inductive approach

T AT Teel T 2iR fagr & o § = € SR ff Seeu &1 ¥ &3 & fau 8 38R &
219 S H1 SURTH 2791 &1 & ?

(1) foeroreHs: IUMH

(2) STEYUITCHER SYRTH

(3) TAEeTeReR SURETH

(4) SARTHARHE SUFTH

Options:-

.1, Option ID :- 249,

. 2, Option ID :- 250,

. 3, Option ID :- 251,

« 4, Option ID :- 252,
Answer Given:- 3, Option ID : -251

Question ID:- 64




The most important quality of an effective teacher is :
(1) His deep knowledge about the subject taught
(2) Being strict disciplinarian

(3) Being a good motivator
(4)

4)  Being popular among students

e YIS STEATYe: 1 Haiide Heequ o1 8 € -
(1) e T faug % g’ F T80 I g

(2) TSR STAEATT B
(3) U 3BT U Al
(4)

2

4) BEI % &9 ARBGEE B

Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
. 3, Option ID :- 255,

« 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65

The best rationale for the use of Audio visual aids\lies in the fact that it :
(1) 1is just other way of doing things
makes learning concrete

(2)
(3) activates two senses
(4)

facilitates teaching-learning process

Jo7- 59 AT 1 TEN #7903 TR T8 € 5
(1) o€ HT4 &I o1 0H T O a0 8

(2) &% AfEATH F S ST

(3) FE T FH=A I HWiehT L &

(4) e Torero-sifermm gfean o1 GH &€ |
Options:-

.1, Option ID :- 257,
« 2, Option ID :- 258,
. 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260

Subject : CCLE_Q66-Q80_TGTSANSKRIT

Question ID:- 66




An inclusive society understands, accepts and respects

(1) disability

(2) diversity

(3) diversity as well as disability
(4) homogeniety

Tk AET THS foFd T9er, TR Sl 2 SHH 276 il § ?

(1) e
(2) fafaem
(3) fafawar & wmo-wme f:veT
(4)  HAFI
Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
. 3, Option ID :- 263,

« 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67

Rights of persons with Disabilities Act, 2016 identifies how many types of disabilities :

(1) 29
(2) 17
(3) 23
4) 21

. vma =afag erfasr 1ferm™.2016, e wor &t 5. vedaieti i 9899 #ar & 2

(1) 29
(2) 17
(3) 23
(4 21

Options:-

.1, Option ID :- 265,
- 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 4, Option ID : -268

Question ID:- 68




Which one of the following is a correct statement ?
(1) The guidance of a person means he/she has been counselled.
The counselling of a person means he/she has been guided.

(
(
(

2)
3) The guidance and counselling of a person are two different issues.
)

4)  The counselling of a person means he/she mandatorily needs guidance .

frefafad § 9 #F @ FuE 98 &2
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Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

« 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69

The Mental Health Care Act, was enacted in the year :

(1) 2016
2) 2017
(3) 2018
(4) 2012

HAfHE @reed eEyd sttufTam feg ad o s = a1?

(1) 2016
(2) 2017
(3) 2018
(4) 2012
Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
. 3, Option ID :- 275,

« 4, Option ID :- 276,
Answer Given:- 1, Option ID : -273

Question ID:- 70




In school how can some creativity among the students may be enhanced in science subject ?
(1) While doing practical’s in the laboratory

(2) During teaching learning scenario in classroom

(3) While doing activity for some concept in classroom

(4) While conducting experiments in the laboratory

foemem © ol | faam fawg & ) d 9 gemeIsa & {69 TR aer 51 9 & 2
(1) 9ErTeTen H JA &d 999

(2) el H et g9 & SR
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(4)
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4)  YIFTNAT H II&T hid HHA

Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
. 3, Option ID :- 279,

« 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Question ID:- 71

Which one of the following topic cannot be taught to the school students, through ‘community as
a learning resource’ ?

(1) Concept of centrifugation

(2) Concept of animal diversity
(3) Concept of acid and base
(4) Concept of atomic structure

‘“ua Af 1eF & w9 ° GEE’ % W § el 9F & i A1 fawd & uern s e € 2
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(4) YA HIEAT I HehoUAl
Options:-

.1, Option ID :- 281,
« 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 1, Option ID : -281

Question ID:- 72




In what way a nearby college can help the adjoining schools ?

(1) College teachers start taking weekly classes in schools

(2) School students visit college and interact with college students

(3) College teachers start training school teachers

(4) School and colleges mutually share their human and physical resources

frepead! Thel 1 U Telfaened H3 Heral s Hehdl ¢ 7
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Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

« 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286

Question ID:- 73

Three adjoining school can enrich themselves by :

(1) Following a common annual calendar

(2) Loaning teachers to each other from time to time

(3) Set common goals and share gvith each other, their resources and experiences
(4) Having common staff meetings

ST U o d11 Bhdl Uk g8 @ HaHd FY L Hehd © ?
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Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 3, Option ID : -291

Question ID:- 74




There are 12 sitting and chatting points in a community. What can an adjoining ‘Gandhi Memorial
school” can do for them ?

(1) Teachers go there and conduct lively open discussion session on social issues
2

(2) School request people over there to send their children to school
(3) Teachers conduct a 10 minute book reading session at each point
(4)

4) Request people at every point to frequently visit the school and give suggestions
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Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
« 3, Option ID :- 295,

« 4, Option ID :- 296,
Answer Given:- 4, Option ID : -296

Question ID:- 75

Which one of the following options can helpimprove a school ?

(1) Analysis of winnings and defeatsin sports in last 2 years

(2)  Analysis of school results of last five years

(3) Analysis of data of achievements, in curricular and co-curricular activities
(4) Data analysis of best teachef prizes won by school teachers

T el 1 deR oM H 99 § 3 %9 W fgeey Teme € 5 &2
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Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
. 3, Option ID :- 299,

« 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76




By which one way Mrs. Jadhav can improve her teaching learning skills.
(I) Reading two books every month

(2) Study the annual results of her class students

(3) Comprehensive self analysis of her performance in every field

(

4)  Her teacher colleagues observe her teaching and give suggestions to her

e 2153, il sty o0 foeor-sifam wierel § fR YR gur o Tehdl § 7
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Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
. 3, Option ID :- 303,

« 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

Which one of the following school processes should be strengthened to better overall school
performance ?

(1) Time spent in taking attendance and fee collection

(2) Time spent in group based, team buiilding and project completion followed by discussion
(3) Time spent in school prayer
(4) Time spent in laboratory expériment conduction

el ! Hehel TTarEeRd =l ISted 3 &g 91 8 § &F °f wF ufeha W ae < =ifgn ?
(1) =it i Yo 39 H | @ aren 994

(2) HqE s 2 areRR WEe Yo T % 91E 99l | o Srel 9hE

(3) UMd: S HHIH SH arel HHY

(4) YARTINEA | YA oA H @ STel §HE

Options:-

.1, Option ID :- 305,

- 2, Option ID :- 306,

. 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 2, Option ID : -306

Question ID:- 78




The new structure proposed for school level education by NEP-2020 is ?
(1) 5+3+4

2y 2+3+3+4

3) 3+2+3+4

4 5+3+3+4

(
(
(

T T e 89 NEP-2020 SR 93 g7 €9 1 § 7

(1) 5+3+4
(2) 2+3+3+4
3) 3+2+3+4
(4) 5+3+3+4
Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

« 4, Option ID :- 312,
Answer Given:- 4, Option ID : -312

Question ID:- 79

Why schools should give special emphasis on the edu¢ation of handicapped children ? Choose the
best option :

(1) Such children are the gift of God

(2) Such children need care and sympathy

(3) Itis the right of such children
(4)

4)  Such children might have good'mental potential

Teeain ==l =1 e W w5l %) i fasm =@ 3 =fen ? wa g fasey 1 =90
(1) A =k 9 HT 3 ¢

(2) U AR F @I AR FE i F SEered 8

(3) &% Y FeThl i AFR 7

(4) UH areri T HEATE Gl € Wk ¢

Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
. 3, Option ID :- 315,

. 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80




Which one type of curriculum will be most suitable for teaching VI class students ?
(1) Subject centered curriculum

(2) Activity curriculum
(3) Fused curriculum
(4) Teacher centered curriculum

T3 T BN B UG oY FA G TSI He ITFFH 2 ?

(1) Taw= wf=a sz

(2) fdfafy wrga=at

(3) Hed weEEd

(4) SAEATH Hiwd JrEE=Al
Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

« 4, Option ID :- 320,
Answer Given:- 2, Option ID : -318

Subject : Sanskrit_Q81-Q180_TGTSANSKRIT

Question ID:- 81
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(3) =™
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Options:-

.1, Option ID :- 321,
. 2, Option ID :- 322,
. 3, Option ID :- 323,

- 4, Option ID :- 324,
Answer Given:- 2, Option ID : -322

Question ID:- 82
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e =Y T Tl 2fug=s: AHeR: e HTTesd | | 9 Jiad v e fHeuusi: e ufam
T, 9 9 AfEIETar | gen: sifaaad- o fammiste g sifer faa fde: swdifa adanfa ) aq f&
Fan 2" we fafar g @ g 9 faa | 5 73 =R, o= @ 98 99 Fwasta o 99E
ATEI: ATy 981 & o ety ? afe & 7 7 sngafy afg % fedid fae =ty sfq”

19 Tamge fee: sifeqard- a1 T He WA HRfd | g weE 7 ferfed et

qeE T8 ST HUH | vE 9: fae vfava 7 ofisd wfgsafa | sef foard fos: g e sgAmei |
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THz: g

e feey
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Options:-

.1, Option ID :- 325,

« 2, Option ID :- 326,

. 3, Option ID :- 327,

- 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83
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(1) TR Hor,
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(3) UEHAIgEH AT

(—1) TerEl: e a4

Options:-

.1, Option ID :- 329,

« 2, Option ID :- 330,

. 3, Option ID :- 331,

. 4, Option ID :- 332,
Answer Given:- 2, Option ID : -330

Question ID:- 84
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Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
. 3, Option ID :- 335,

- 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85
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Options:-

.1, Option ID :- 337,
. 2, Option ID :- 338,
. 3, Option ID :- 339,

- 4, Option ID :- 340,
Answer Given:- 3, Option ID : -339

Question ID:- 86
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(1) st
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Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
. 3, Option ID :- 343,

- 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87
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Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88




areiferiiad wenyt ufswn Uy fasreararenmea: sfeqaad 3o fora |

SHiGHYE a1 weaEt: M o gfaasfd 11 | Fwefad gasda: JRawE gurd: 7 fefEait s gwer |
T AR T Hed [a wal | sAfeaad- e e T wh sy s s o ove
el yeon famifa " zfd)

e =Y T Tl 2fug=s: AHeR: e HTTesd | | 9 Jiad v e fHeuusi: e ufam
TR, A 9 ASIal | Yl sifeaad- el famste A sifer foa e swifa 9 aq
Far 2" we fafar gy: @ g 9l faa ! & 3 =R, o= @9 98 999 FdistE o 99@
AEI: ATy 981 & o Rty ? afe & 7 7 svgafy afg o' fedid fae =ty sfq”

19 Tamge fee: sifeqard- a1 T He WA HRfd | g weE 7 ferfed et

qeE T8 ST HUH | vE 9: fae vfava 7 ofisd wfgsafa | sef foard fos: g e sgAmei |
e SoTSH- Wfasaf-=1 |1 a1 3o Y A | 31 SIS aere: s stve | gmensty @a: i
HA™HM: SHAYST -

SFTE F: Fed | W

H 9Ir=Ad A1 A FHUEIR |

TS HEIR FHIET S
Terere Aol = ey | 111

Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

- 4, Option ID :- 352,
Answer Given:- 2, Option ID : -350

Question ID:- 89
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s fefer <A femmeran M mfeers: |
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(2)
(3)
(4)
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Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
« 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90
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(1) fenmer=:

(2) foreare:

(3) GHETET:

(4) SEE
Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
. 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 1, Option ID : -357

Question ID:- 91
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(1) Yrd:=e

(2) =99

(3) &Y Tl

(4) frforare
Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
. 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 4, Option ID : -364

Question ID:- 92
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(1) drew

(2)

(3) W=

(4) fawfa:
Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

« 4, Option ID :- 368,
Answer Given:- 3, Option ID : -367

Question ID:- 93
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(1) gAYy

(2) #
(3) HH:
(4) afeor
Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94
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(3) HEA + UAL:
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Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
. 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95
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Options:-

.1, Option ID :- 377,
. 2, Option ID :- 378,
. 3, Option ID :- 379,

« 4, Option ID :- 380,
Answer Given:- 2, Option ID : -378

Question ID:- 96
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Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,
« 4, Option ID :- 384,




Answer Given:- 2, Option ID : -382

Question ID:- 97
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Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 1, Option ID : -385

Question ID:- 98
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Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 1, Option ID : -389
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(3) fE=m
(4) 9IH:
Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
. 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394

Question ID:- 100

areiiferiaa TNyt fasca s Sfadad st foear Rememafy 9o |

THE AIHUS: (F HE U: qaeH a8 96 IFTESA A (A "l fUa = 97 dieves snfaeay
3T | Udd 20al F1s: sThuad - | e el ek 98 235 | Shae SeHe HH 99 A 9
T8 TaRIsT 100 1R | 99 Herr@ vad 98 101 \STaH | HE T8 g 102 FHeEe: gi< 1’ e Femfd:
Fged - ! 103 o1 sy wtan

(1) 3%
(2 FFC
(3)
(4 THH
Options:-

.1, Option ID :- 397,
- 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 3, Option ID : -399

Question ID:- 101




sreifefiaa Tenst fasctsa: Sfamaad s faan Reremt gwa |

TR AIHUS: (7 HE U: qaeH a8 96 3TEd | TF FOHA: |l fUa = 97 gieves sfaey
HFA | UAd 2T 1ehUs: 3ehudd - oA o1E vadi AR 98 A1 | oheel SeHd HH 99 Aq e
Te TeRls i 100 71 | 99 Heh R Weordi &g 101 STad | 79 e 102 FHHehd: | 1" q€1 Fomfd:
sreed - sl 103 o8 e |l

(1) e

(2 ¥&q

(3) foorm:

(4 &
Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
. 3, Option ID :- 403,

- 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102

areiiferiaa TNyt fasca s Sfadad st foear Rememafy 9o |

THE AIHUS: (F HE U: qaeH a8 96 IFTESA A (A "l fUa = 97 dieves snfaeay
3T | Udd 20al F1s: sThuad - | e el ek 98 235 | Shae SeHe HH 99 A 9
T8 TaRIsT 100 1R | 99 Herr@ vad 98 101 \STaH | HE T8 g 102 FHeEe: gi< 1’ e Femfd:
Fged - ! 103 o1 sy wtan

Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
. 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103




sreifefiaa Tenst fasctsa: Sfamaad s faan Reremt gwa |

TR AIHUS: (7 HE U: qaeH a8 96 3TEd | TF FOHA: |l fUa = 97 gieves sfaey
HFA | UAd 2T 1ehUs: 3ehudd - oA o1E vadi AR 98 A1 | oheel SeHd HH 99 Aq e
Te TeRls i 100 71 | 99 Heh R Weordi &g 101 STad | 79 e 102 FHHehd: | 1" q€1 Fomfd:
sreed - sl 103 o8 e |l

(1) 3wy

(2) #HHIY

(3) darg

(4) Tammersta
Options:-

.1, Option ID :- 409,
« 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 2, Option ID : -410

Question ID:- 104

sreiferfiad TNyt fashcusa: sfadad st famn Remvemafy 9vaq )

T T E w104 o2l | v e fagren At 105 SR 99 U8 YA | FaihE: |
YedH 106 W aFIE] Hicel 107 3G Lded ST gad TR e fagm 108 e U
&I TRRf | tahE e AR 9 Y 10941 s T o 110, Teifa o AT sgaemel: u

Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 2, Option ID : -414

Question ID:- 105




areiferfiad eyt fasrets: sfadad s famer Renernts grad |

T T wE w104 Sef | v fE fagren qie wh 105 AR 99 Ue8 yAIG | FaiEE:
WEGH _ 106 TR AE] Rfecl 107 3T6e: | ded SRR gETd ST A fies 108 s
g emiefd | tahg g 9’ ar fH9E 109 1 Fe: fHe s 110, TSifa W femfy saquemd:

(1) Hfeweh
(2) =G
(3) dM:
(4 FF<
Options:-

.1, Option ID :- 417,
« 2, Option ID :- 418,
. 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106
sreiferfiad TNyt fashcusa: sfadad st famn Remvemafy 9vaq )
T T E w104 o2l | v e fagren At 105 SR 99 U8 YA | FaihE: |

YedH 106 W aFIE] Hicel 107 3G Lded ST gad TR e fagm 108 e U
&I TRRf | tahE e AR 9 Y 10941 s T o 110, Teifa o AT sgaemel: u

(1) z=sfd
(2) T=sfd
(3) wYEfd
(4) emafd
Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 1, Option ID : -421

Question ID:- 107




areiferfiad eyt fasrets: sfadad s famer Renernts grad |

T T wE w104 Sef | v fE fagren qie wh 105 AR 99 Ue8 yAIG | FaiEE:
WEGH _ 106 TR AE] Rfecl 107 3T6e: | ded SRR gETd ST A fies 108 s
g emiefd | tahg g 9’ ar fH9E 109 1 Fe: fHe s 110, TSifa W femfy saquemd:

Options:-

.1, Option ID :- 425,
« 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

Question ID:- 108
sreiferfiad TNyt fashcusa: sfadad st famn Remvemafy 9vaq )
T T E w104 o2l | v e fagren At 105 SR 99 U8 YA | FaihE: |

YedH 106 W aFIE] Hicel 107 3G Lded ST gad TR e fagm 108 e U
&I TRRf | tahE e AR 9 Y 10941 s T o 110, Teifa o AT sgaemel: u

(1) =i
(2 =9
(3) e
(4) 9
Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429

Question ID:- 109




areiiferfiaa et fasredsa: Sfamad 3o forar et grem)

e T Y wde 104 ==fd | U e faarer 959 wh: 105 AT 9% Us8 YAl | paiEe: |
Egq 106 T FFTE Hfeen 107 %S | 9G8R g4 90 oG fHEe 108 e g
&R TR | TaHE T g 9’ f9E 109 | e THe Tasad: 110, TSifa W et sdueme: uy

(1) =z
(2) Yvaf<d
(3) wrEAf
(4 &
Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
. 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 4, Option ID : -436

Question ID:- 110

sreiiferfaa eyt fasmeas: Shomad o femr ety wwaa )
TR T HIY T 104 efd | wh: fHe fagrae asd s 105 ST 9% UES YA | Heihe: 1
WeqH 106 R 9] Hicel 107 e Laqd IS ged o9 ar: fdgm 108 e U

&R el | tade am: ar a) 698 1094 | s fHe saad: 110, TTeifa W fafy swgugmed: 1
fafa

(1) T
(2) emafd
(3) ==fd
(4) Faf
Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
. 3, Option ID :- 439,

« 4, Option ID :- 440,
Answer Given:- 2, Option ID : -438

Question ID:- 111




arehifafady yearamo fasrets: Sfaqad s faar e g
el =gl g 3feE 111 @emi1

v s w112 | W20

g I 113 famdfa = afa =113 11

T O e S 114 A FAH 11 411

Ffege= 115 wfaenf=< 9@ 5 1511

(1) =gl
(2) Tl
(3) fomur:
(4) STHcHA
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 2, Option ID : -442

Question ID:- 112

areiifeiEay yeiram oy faercusa: sfamad St o Rehemt g
el ael T eferf 111 @il

v s w112 9 W21

g Faq 113 fammfa = =fa =113

T T e S _ 114 FW SeH 1410

Ffege= 115 wfaenf=<48 w1511

(1) 3

(2) Fafermem

(3 T

(4) #R
Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 4, Option ID : -448

Question ID:- 113




arehifafady yearamo fasrets: Sfaqad s faar e g
el =gl g 3feE 111 @emi1

v s w112 | W20

g g 113 fammfa = afda =113 11

T O e S 114 A9 FAH 11 411

Ffege= 115 wfaenf=< 9@ 5 1511

(1) HEd
(2) ==
(3) 9T
(4 oo
Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,

. 4, Option ID :- 452,
Answer Given:- 1, Option ID : -449

Question ID:- 114

areiifeiEay yeiram oy faercusa: sfamad St o Rehemt g
el ael T eferf 111 @il

v s w112 9 W21

g Faq 113 fammfa = =fa =113

T T e S _ 114 FW SeH 1410

Ffege= 115 wfaenf=<48 w1511

(1) =49
(2) femn
(3) Fw:
(4) FEAA
Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
« 3, Option ID :- 455,

« 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

Question ID:- 115




g Faq 113 famdfa = =fda 9113 11

EIRAE
RS2

Toes
U

Options:-

.1, Option ID :- 457,
458,
:- 459,

. 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

. 2, Option ID :-
. 3, Option ID

areifafiaay yeiram oy faereuva: Sfaqad 3w faer e g
el FeeR =g sier 111 dgni1
v s I FEH T 112 F a1 211

T T AU S 114 A9 SerH 11 41
Afegw= 115 yfaenfa 9@ gm: 11511

Question ID:- 116

sreifafaad: aferan: T A Foa|

(A)

(A) = fafaeest =nfa (1)
(B) TAelH Sfia =¥ )
(C) Hea gufy: g3 (8)
(D) foen s facermr (4)
(L) (A)-(3), (B)-(1), (O)-(3), (D)-(2)
(2) (A)-(3), (B)-(4), (O)-(1), (D)-(2)
(3) (A=), (B)-(3), (O)-(4), (D)-(1)
(4) (A)-(4), (B)-(2), (O)-(3), (D)-(1)

Options:-

.1, Option ID :- 461,

« 2, Option ID :- 462,

. 3, Option ID :- 463,

. 4, Option ID :- 464,

Answer Given:- 2, Option ID : -462

(B)

i efd Tas
Tewn ou <aar

RIEEIEIRNGID b
e 3 fe faefa

Question ID:- 117




THIfoT: <adl: 2 U |« - 0 9 Thad Ye®y 94 |
(1)  HIo: <ad: T8 Ta Al

(2) I SEe R TE &
(3) T <ad T v |i
(4) =IO <o e U S
Options:-

.1, Option ID :- 465,
« 2, Option ID :- 466,
. 3, Option ID :- 467,

« 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118

Frereh: Tos w8 emvi st - st A fagafad e |
(1) =iferert fo=n © em9on =i

Options:-

.1, Option ID :- 469,
. 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 2, Option ID : -470

Question ID:- 119

37T 1 T NS - deHa g as aiEndd |
(1) i

(2)

(3) 3T S A AR
(4)

Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120




% Td yrEE fHem: - 7 SRR 9gHgE fdh B 9eq ?
(1) =92 5d ur=d foaam:

(2) o ¥d = et

(3) o wd yr= faaf

(4) 74 ud g faay
Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
. 3, Option ID :- 479,

« 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479

Question ID:- 121

(1) fagd
(2) Tarfemm
(3) TR
(4) HaATSH
Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 2, Option ID : -482

Question ID:- 122

FePU: — YgHaq AHfafEdy Fe1 4 odd ?

(1) =9
(2) W=
(3) TP
(4 FH:
Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 4, Option ID : -488

Question ID:- 123




faem - o= v 1 & 2

() 9
(2) TRfH:
(3) ]
(4) =
Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
. 3, Option ID :- 491,

« 4, Option ID :- 492,
Answer Given:- 3, Option ID : -491

Question ID:- 124

Tfed: - wsR1sT srefifafey w9 o a2

(1) w5=:
(2) Sfea:
(3) T
(4) =IE:

Options:-

.1, Option ID :- 493,
« 2, Option ID :- 494,
. 3, Option ID :- 495,

« 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493

Question ID:- 125

Ffe: - TS == Fisd; ?

(1) s
(2) =R
(3) fem:
(4) #fE:
Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
. 3, Option ID :- 499,

- 4, Option ID :- 500,
Answer Given:- 4, Option ID : -500

Question ID:- 126




() 7™
(2) T9a
(3) T
(4) foere:
Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
« 3, Option ID :- 503,

« 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502

Question ID:- 127

3] - A ANy e e e ?

(1) =Y
(2) T
(3) HEH
(4) =R
Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
. 3, Option ID :- 507,

. 4, Option ID :- 508,
Answer Given:- 4, Option ID : -508

Question ID:- 128

S e Fsa IERIEIEED ﬁfjﬁ |
(1) ferma:
(2) ¥
(3) A
(4)  =RiYA:
Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 2, Option ID : -510

Question ID:- 129




(1) e

(2) wnf=:

(3) wifa:

(4) Af®:
Options:-

.1, Option ID :- 513,
. 2, Option ID :- 514,
. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 4, Option ID : -516

Question ID:- 130

‘o' sore faeede 92 o |
(1) fgst:

2) =

(3) W

(4) ¥4
Options:-

.1, Option ID :- 517,
. 2, Option ID :- 518,
. 3, Option ID :- 519,

« 4, Option ID :- 520,
Answer Given:- 3, Option ID : -519

Question ID:- 131

‘e e wifqafesrer Wt e sgaE fh w9 vyafd ?

(1) TSI
(2) &
(3) WM
(4) T&E:
Options:-

.1, Option ID :- 521,
« 2, Option ID :- 522,
. 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 3, Option ID : -523

Question ID:- 132




Options:-

. 3, Option ID

.1, Option ID :

- 525,
« 2, Option ID :-

526,

:- 527,

. 4, Option ID :-
Answer Given:-

528,
1, Option ID : -525

Answer Given:-

Question ID:- 133

Tal vreae wEl farnl i wwifor st ?
(1) e EIsa A6
(2) W& T AEEH
(3) TEm W AEy
(4) TEL: FEl: AEHM
Options:-
.1, Option ID :- 529,
« 2, Option ID :- 530,
. 3, Option ID :- 531,
. 4, Option ID :- 532,

4, Option ID : -532

1

)
2)

Options:-
.1, Option ID :-
. 2, Option ID

. 4, Option ID

Question ID:- 134

el — 3 e e T &9 = 2
(1) g faufe:, sgeem
( G IREE w
(3) =gl favfd:, wwraETq
(4) =t faufs:, Twa=q

533,

:- 534,
. 3, Option ID :-

535,

:- 536,
Answer Given:-

2, Option ID : -534

Question ID:- 135




91 YT FHHIfIY®], Thad foh €9 vafd ?

(1) gy
(2) WFL:
(3) W
(4) w4
Options:-

.1, Option ID :- 537,
« 2, Option ID :- 538,
« 3, Option ID :- 539,

« 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539

Question ID:- 136

(1) - TqGeiergd, wqefl, The=ry
(2) Yfegw, v, fEeey

(3) iferg™, =rqefl, whe=y
(4) Ygfem, wSi, fga=my
Options:-

.1, Option ID :- 541,
« 2, Option ID :- 542,
. 3, Option ID :- 543,

. 4, Option ID :- 544,
Answer Given:- 1, Option ID : -541

Question ID:- 137

qug vieewd =l favel, agaen f w9 wafq ?

(1) FHH
(2) FarEH
(3) FW=H
(4) o
Options:-

.1, Option ID :- 545,
« 2, Option ID :- 546,
. 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 3, Option ID : -547

Question ID:- 138




Taq (Slifag) weasd qgHifaasl, Thaad fh &4 vafd ?

(1) Taa:
(2) TaEm:
(3) T
(4) wdrfy:
Options:-

.1, Option ID :- 549,
« 2, Option ID :- 550,
. 3, Option ID :- 551,

« 4, Option ID :- 552,
Answer Given:- 2, Option ID : -550

Question ID:- 139

“for weAmYeRE wifors TEHITG R 0 &t |

(1) =&  FHEH HA
(2) A FAE HY

(3) HEL HAL HY

(4) FE FA FG
Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
. 3, Option ID :- 555,

« 4, Option ID :- 556,
Answer Given:- 4, Option ID : -556

Question ID:- 140

‘F:" sfavE uma: w2

(1) CIEABR:, HAHYES:, TgITdTH

(2) Tafufageesr:, yoHqeEs:, sga=Ty
(3) TETHR:, ITAYEY:, THa=TH

(4) TIABR: ITAYES:, fgar=ry

Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
. 3, Option ID :- 559,

. 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Question ID:- 141




“ymifor’ gy urd: T AR w9 A ?

(1) EEHL:
(2) Tefufagasr:
(3) TR
(4) CEARR:

Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
. 3, Option ID :- 563,

« 4, Option ID :- 564,
Answer Given:- 4, Option ID : -564

Question ID:- 142
J3Y UTl: ASARRE G, Thad o ©9 Y& 2
(1) ==

(2) =
(3) U=HE
(4) ufusafd
Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,
. 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 2, Option ID : -566

Question ID:- 143

S o GReeRE qeyey fean fF w9 vmfa ?

(1) =9
(2) e
(3) HTE:
(4) Afaege:
Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
. 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 1, Option ID : -569

Question ID:- 144




Options:-

.1, Option ID :- 573,
« 2, Option ID :- 574,
. 3, Option ID :- 575,

« 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Question ID:- 145

‘geaf’ - UeHTq T U TY a9 2

(D) V=
(2) V=&
(3) VIY
(4) V&
Options:-

.1, Option ID :- 577,
. 2, Option ID :- 578,
. 3, Option ID :- 579,

. 4, Option ID :- 580,
Answer Given:- 1, Option ID : -577

Question ID:- 146

‘AT - URHAd JITH Ul T deRe T i ?

(1) TEIEhR:
(2) Tafufag @i
(3) TR

(4) LRI
Options:-

.1, Option ID :- 581,
« 2, Option ID :- 582,
. 3, Option ID :- 583,

. 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584

Question ID:- 147




qae=i ol Ha 21t -

(1) T
(2) 3=
(3) e
(4) U

Options:-

.1, Option ID :- 585,
« 2, Option ID :- 586,
. 3, Option ID :- 587,

« 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Question ID:- 148

Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
. 3, Option ID :- 591,

. 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

Question ID:- 149

T H T HaFl Al ?
(1) 2@

(2) e

(3) =ER:

(4) deri:
Options:-

.1, Option ID :- 593,
« 2, Option ID :- 594,
. 3, Option ID :- 595,

- 4, Option ID :- 596,
Answer Given:- 4, Option ID : -596

Question ID:- 150




(1) e
(2) =mY
(3) HUS:
(4) Tl
Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
. 3, Option ID :- 599,

. 4, Option ID :- 600,
Answer Given:- 4, Option ID : -600

Question ID:- 151

T9: IR 7 SQIq — AR ar SAdeaind 9 foh FReh T ?
(1) =

(2) SAfHHToTH

(3) HHIRFH

(4) =TT
Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
. 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 3, Option ID : -603

Question ID:- 152

FREY ueay o wafa ?
(1) =H

(2) SR

(3) @

(4)

Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
. 3, Option ID :- 607,

. 4, Option ID :- 608,
Answer Given:- 1, Option ID : -605

Question ID:- 153




AIEFFRES I F fgus: w3 fFad ?

(1) g
(2) EwHl
(3) g=Hl
(4) o
Options:-

.1, Option ID :- 609,
« 2, Option ID :- 610,
. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 3, Option ID : -611

Question ID:- 154

‘g’ e Am w faafe: vgeEa ?

Options:-

.1, Option ID :- 613,
« 2, Option ID :- 614,
. 3, Option ID :- 615,

. 4, Option ID :- 616,
Answer Given:- 4, Option ID : -616

Question ID:- 155

fedtenfaufs: sefafay o1 9 g ?

(1) =fe:
(2) 4
(3) 3=
(4) IvFa:
Options:-

.1, Option ID :- 617,
. 2, Option ID :- 618,
. 3, Option ID :- 619,

. 4, Option ID :- 620,
Answer Given:- 4, Option ID : -620

Question ID:- 156




(1) 57
(2) 75
(3) 87
(4) 37

Options:-

.1, Option ID :- 621,
. 2, Option ID :- 622,
. 3, Option ID :- 623,

- 4, Option ID :- 624,
Answer Given:- 1, Option ID : -621

Question ID:- 157

68—3TE1: HTaTHH; ea; whisfa ?

(1) ufs:

(2) wEwEfd:

(3) 3TEEE:

(4) wgfHfd:
Options:-

.1, Option ID :- 625,
« 2, Option ID :- 626,
. 3, Option ID :- 627,

. 4, Option ID :- 628,
Answer Given:- 3, Option ID : -627

Question ID:- 158

al + 3fH: - HEIH: o wiafee Fed |

(1) Ffgaf:

(2)  T[orEfE:

(3) sEfeEf:

(4) gl
Options:-

.1, Option ID :- 629,
« 2, Option ID :- 630,
. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 2, Option ID : -630

Question ID:- 159




(1) Y+ AHTH
(2) 9=+ THAH
(3) FERT + HAH,
(4) Y + T
Options:-

.1, Option ID :- 633,
« 2, Option ID :- 634,
. 3, Option ID :- 635,

« 4, Option ID :- 636,
Answer Given:- 1, Option ID : -633

Question ID:- 160

‘TrefisT SAfET R & |l add ?
(1) FIEr:

(2) TEFAER:

(3) srfemfer

(4) famiaf:
Options:-

.1, Option ID :- 637,
« 2, Option ID :- 638,
. 3, Option ID :- 639,

. 4, Option ID :- 640,
Answer Given:- 4, Option ID : -640

Question ID:- 161

T+ T — oFF wi FE |

(1) deer:
(2) dee:
(3) dge:
(4) dwim:
Options:-

.1, Option ID :- 641,
« 2, Option ID :- 642,
. 3, Option ID :- 643,

« 4, Option ID :- 644,
Answer Given:- 2, Option ID : -642

Question ID:- 162




() =
(2) W+
(3) WL+
(4) WL+ =
Options:-

.1, Option ID :- 645,
« 2, Option ID :- 646,
. 3, Option ID :- 647,

« 4, Option ID :- 648,
Answer Given:- 3, Option ID : -647

Question ID:- 163

ITFOH ' T HT THES IS0 37 2
(1) =eife:
(2) degEs:
@ fa
(4) TeitvE
Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
. 3, Option ID :- 651,

. 4, Option ID :- 652,
Answer Given:- 4, Option ID : -652

Question ID:- 164

‘a3 gaEueE fauE Fed |

(1) 398t JFg

(2) A& FEH

(3)  ST&UE AFH

(4) SRR
Options:-

.1, Option ID :- 653,
« 2, Option ID :- 654,
. 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 2, Option ID : -654

Question ID:- 165




(1) reerva:

(2) FOEI:

(3) Treifarre

(4) Efv=:
Options:-

.1, Option ID :- 657,
« 2, Option ID :- 658,
. 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 1, Option ID : -657

Question ID:- 166

(1) HHYE:

(2)  GeATICIE:

(3) &=

(4) HEATHM:
Options:-

.1, Option ID :- 661,
« 2, Option ID :- 662,
. 3, Option ID :- 663,

. 4, Option ID :- 664,
Answer Given:- 3, Option ID : -663

Question ID:- 167

(1)  eafemros

(2) RUSeH

(3) Wy

(4) wgemETe:
Options:-

.1, Option ID :- 665,
« 2, Option ID :- 666,
. 3, Option ID :- 667,

« 4, Option ID :- 668,
Answer Given:- 2, Option ID : -666

Question ID:- 168




Feiferfady =g s fod |

(1) =7
(2 A
(3) =AY
(4) A
Options:-

.1, Option ID :- 669,
« 2, Option ID :- 670,
. 3, Option ID :- 671,

. 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169

(1) w=%
(2) =3
(3) THd
(4) TG
Options:-

.1, Option ID :- 673,
« 2, Option ID :- 674,
. 3, Option ID :- 675,

. 4, Option ID :- 676,
Answer Given:- 4, Option ID : -676

Question ID:- 170

Frrefafaay weraraesy sead for e1fe ?
(1) T

(2) e

(3) 3y

(4) &4

Options:-

.1, Option ID :- 677,
. 2, Option ID :- 678,
. 3, Option ID :- 679,

- 4, Option ID :- 680,
Answer Given:- 2, Option ID : -678

Question ID:- 171




Fidifafady seae fogd )

(1) 9YodHF

(2) T4
(3) &
(4) TSIt
Options:-

.1, Option ID :- 681,
« 2, Option ID :- 682,
. 3, Option ID :- 683,

« 4, Option ID :- 684,
Answer Given:- 3, Option ID : -683

Question ID:- 172
sreifefaay ared Fefed domes Hod |
SE: fammerd st &t |

(1) om: famerd sieaad g

(2) B faared st FeEr

(3) e forned 7ead sTged

(4) BEn: foued s1ereH SRt

Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
. 3, Option ID :- 687,

« 4, Option ID :- 688,
Answer Given:- 2, Option ID : -686

Question ID:- 173

reiiferfady aredy, aeifad Woies 6o |

W3h: FHEH FH

(1) oTh: FomF Tafd

(2) B FOME AH:

(3) ¥h: FH TH:

(4) WH: FO TH
Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,
. 3, Option ID :- 691,

. 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174




Options:-

.1, Option ID :- 693,
« 2, Option ID :- 694,
. 3, Option ID :- 695,

. 4, Option ID :- 696,
Answer Given:- 2, Option ID : -694

Question ID:- 175

arshferfasy Aoy Tehfer ol Hod |

T v gdfau gEEyE e

(1) @ 9o welfas FEae- e

(2) T WE HefaH GEEnEHE S
(3) T vE wEfau gEmy i
(4) T v wefau gEaeH st
Options:-

.1, Option ID :- 697,
« 2, Option ID :- 698,
. 3, Option ID :- 699,

. 4, Option ID :- 700,
Answer Given:- 1, Option ID : -697

Question ID:- 176
arehiferfaay ared aefad T o |
& A TR T T |

(1) & IRErY e Fafd &

(2) T UG ik GH W

(3) I RISkl TH

(4) TS ARG FRL FHA H

2

Options:-

.1, Option ID :- 701,
« 2, Option ID :- 702,
. 3, Option ID :- 703,

. 4, Option ID :- 704,
Answer Given:- 3, Option ID : -703




Question ID:- 177

reiifeiaay arady aremiads §ed |
T[N T[OTRY O Saf= | ( Teer=d)
(1)  T[om: O IO sEfa

Options:-

.1, Option ID :- 705,
« 2, Option ID :- 706,
. 3, Option ID :- 707,

« 4, Option ID :- 708,
Answer Given:- 2, Option ID : -706

Question ID:- 178

srehifefaay STy arerufteds $ea|
Tl Ueh G&I U | (Fgarsa)

(1) 3A8H Teh Y&ish qa1H

(2) A ek YHIH YSIH

(3) € U Y&k S

(4) o TH IR H98H
Options:-

.1, Option ID :- 709,
« 2, Option ID :- 710,
. 3, Option ID :- 711,

« 4, Option ID :- 712,
Answer Given:- 1, Option ID : -709

Question ID:- 179

seiifeiaay sy areuiads §ed |
AR : Yo HIEAT: Tt | (FHar=)

Options:-

.1, Option ID :- 713,
. 2, Option ID :- 714,
. 3, Option ID :- 715,




. 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180

sreifefaay arady areuiads §ed|
T ST TAfd | (HrEar)
(1) TR T FH

Options:-

.1, Option ID :- 717,
« 2, Option ID :- 718,
. 3, Option ID :- 719,

« 4, Option ID :- 720,
Answer Given:- 1, Option ID : -717
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